ExaMm II MATH 230, CaLcurus 11, SPRING 2017 Name: SotoTlow

Show all work to receive full credit.

1. (20 points) Evaluate the following limits
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2. (10 points each) Evaluate the following integrals.
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(a) Evaluate /1 - dx
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(b) Evaluate /sec4(m) tan’(z) dz
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1 tan~lz

(c) Evaluate/O T dz
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(d) Evaluate/x(x+2)(xd3> T
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(e) Evaluate
LEeT 2=518, dx:cxodg
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3. (16 points) Evaluate the following. No work need be shown.
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4. Let y = 573

(a) (7 pts) Set up the integral for the length of y over 0 < z < 3. DO NOT EVAL-
UATE.
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(b) (7 pts) Set up the integral that represents the area of the surface obtained by
rotating y about the x-axis.
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